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1.6 (1+y?)dx — xydy =0
1.7 (14+y?)dx + xydy =0
1.8 (xy’ +x) dy +(x° y — y)dx =0
19 y -sinx—ycosx =0
110 },r'r. tgx = }r,
1.1 (1+y*)dx = xdy
112 y'-sinx — y-cosx = 0;
113 x-m+y-y' |+ x* =0,
1.14 X4/l = y2 dx +y 4/1 = x? dy=0;
1.15 e’ (1+y) =l
1.16 ylny dx + xdy =0;
117 e'(14x*)dy—2x (1+¢e')dx =0
118 y'sinx =ylny;
119 2x41=y* =y (1+x7%)
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1.22 siny - cosx dy = cosy - sinx dx;
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y-edx —(1+e™)dy =0;

1.25 y - },’ +x=0
1.26 2e"-1gydre +(1+e)sec’ ydy=0;
L2 (x+D)y +xy=0
128 y' =cos(x + y)
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2.1 y"+4y=0 y"-10y'+25y =0 y"+3y'+2y=0
2.2 y"-y'=2y=0 y"+9y=0 y"+4y'+4y =0
2.3 y'-4y'=0 y'—4y'+13y =0 Y 3y+2y=0
2.4 y"-5y'+6y =0 y"+3y'=0 y"+2y'+5y=0
2.5 y"—2y'+10y =0 y'+y'—2y=0 y'—2y' =0
2.6 y'-4y=0 y"+2y'+17y =0 y'—y'-12y=0
2.7 y"+y'-6y=0 y'-4y'+20y =0 y"-4y'+20y =0
2.8 y'-49y =0 y'—4y'+5y=0 Yy +2y—3y=0
2.9 y'+7y'=0 y'=5y'+4y =0 y'+16y =0
2.10 y'-6y'+8y=0 y"+4y'+5y=0 y'+5y'=0
2.11 4y"-8y'+3y =0 y'—3y'=0 y'—2y'+10y =0
2.12 y"+4y'+20y =0 y'—3y'—10y =0 y'—16y=0
2.13 9y"+6y'+y=0 y'—4y'—21y =0 Y +y=0
2.14 2y"+3y+y=0 y"+4y'+8y =0 y'—6y'+9y =0
2.15 y"-10y'+21y =0 y'—2y'+2y=0 V' 14y =0
2.16 y"+6y'=0 y'+10y'+29y =0 y'—8y'+7y=0
2.17 y"+25y=0 y"+6y+9y=0 y"+2y'+2y=0
2.18 y'—=3y'=0 y'—7y-8y=0 y"+4y'+13y =0
2.19 y"-3y'-4y=0 y"+6y'+13y =0 y'+2y =0
2.20 y"+25y'=0 y"-10y'+16y =0 y"-8y'+16y =0
2.21 y"-3y'-18y =0 y'-6y'=0 y"+2y'+5y=0
2.22 y"-6y'+13y =0 y'—2y'-15y =0 y'—8y'=0
2.23 y'+2y+y=0 y"+6Yy'+25y =0 y'—4y' =0
2.24 y"+10y'=0 y'—6y'+8y=0 4"+ 4yt y =0
2.25 y"+5y=0 9y"-6y'+y=0 y"+6y'+8y =0
2.26 y"+6y'+10y =0 y'—4y'+4y=0 V' 5y 14y =0
2.27 y'-y=0 4y"+8y'-5y=0 y"-6y'+10y =0
2.28 y"+8y'+25y=0 y'+9y'=0 9y"13y—2y=0
2.29 6y"+7y'-3y=0 y'+16y =0 4y 4yt y=0
2.30 9y"-6y'+y=0 y'+12y'+37y =0 y'—2y'=0




